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CONVERTIR DES AIRES
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1. 57 hm?=57x 10000 m2 =570000 m? 4. 6 hm?=6x10000 m2=60000 m?2
2. 600 dam? =600 x 100 m2 =60 000 m? 5. 17 hm?=17x10000 m? =170 000 m?
I 3. 7 dam?=7x100 m2 =700 m? 6. 10 hm?=10x 10000 m2 = 100000 m?2

1. 65 dm?=65+100 m2=0,65 m?2 4. 3 dm?=3+100 m2=0,03 m>2
2. 700 dmZ2=700+100 m2=7 m?2 5. 50 dm%2=50+100 m2=0,5 m>2
3.7 dm?=7+100 m2=0,07 m? 6. 900 dm2=900+100 m2=9 m2
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1. 20 dm? =20x10 000 mm? =200 000 mm? 8000000 dm?

I 2 8 dm?=8=100 m?2=0,08 m? N ) )
] 3900 dm? =900+10000 dam? =0,09 dam? 3. 58 m"=58+100 dam*=0,58 dam
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4. 800 dam? = 800 x 10000 dm? = 6. 100 mm2=100+10000 dm%=0,01 dm?

1. 8,4 dm?=8,4x 10000 mm?2=284000 mm? 4. 0,9 cm?=0,9+10000 m?Z=0,00009 m?
2. 54 dm?=5,4+10000 dam? =0,000 54 dam? 5. 1,45 dm2=1,45-10000 dam?=0,000145 dam?
3. 0,03 m2=0,03+100 dam?=0,0003 dam? 6. 4,45 dm?=4,45x100 cm? =445 cm?
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